Activity 14 — Mole Worksheet
J
Name j(\—‘GJL/{

Section____ “ Date

Questions and Problems

Solve the following problems, showing at least some of your work and making sure your answer is clearly
boxed off. Your final answer will include the correct number of significant figures and the units. Use
scientific notation if the answer is greater than 1000 or less than 1. Note: Make sure you have the correct
chemical formula before doing any calculations. You will need a periodic table for this exercise.

1. A sample of mercury (II) bromide weighs 7.56 g.

a. What is the molar mass of mercury (II) bromide?

b. How many moles are in this sample?

2. What is the mass of 0.81 mol of ammonium carbonate?

3. How many molecules are contained in 8.25 mol of chlorine gas?

a. How many afoms are contained in 8.25 mol of chlorine gas?

4. Calculate the percent by mass of barium in barium sulfate.

5. What is the mass of 4.2 x 10® molecules of carbon dioxide?
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6. Use the following equation to solve the following problems:

2KMnO; + 16HCI ——  5Cl, + 2KCl + 2MnCl, + 8H,0

a. How many moles of HCI are required to react completely with 1.00 mole of KMnO,?

b. How many moles of chlorine will be produced by 25.0 moles of KMnQO,?

c. How many moles of water will be produced if 40. g of HCI are completely reacted with
excess potassium permanganate?

d. What is the maximum mass of manganese(Il) chloride that will be produced if 40. g of HCI
are completely reacted with excess potassium permanganate?

7. A water solution of sulfuric acid (H,SO,) has a density of 1.67 g/mL and is 75 percent H,SO, by mass.
How many moles of H,SO, are contained in 500. mL. of this solution?
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